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QUESTION 1

You have an entity called "the child". You have three attributes called "the child\\'s score," "the lowest score of all the
children," and "the number of children scoring more than ten." You want to write two rules to infer the lowest score of all
the children and the number of children scoring more than ten without creating any additional attributes in the child
entity. 

Which two entity functions do you need to use? 

A. InstanceMaximumIf 

B. InstanceCountIf 

C. InstanceMinimumIf 

D. InstanceSum 

E. InstanceMaximum 

F. InstanceSumIf 

G. InstanceCount 

H. InstanceMinimum 

Correct Answer: DE 

 

QUESTION 2

Which three statements are correct about explanations and audit reports? 

A. Explanations can only be added to the final screen in an interview. 

B. Explanations can be saved, audit reports cannot. 

C. Explanations are automatically saved to a data source when one is available. 

D. Audit reports are automatically saved to a data source when one is available. 

E. Explanations can be shown in a Form, audit reports cannot. 

F. Explanations can be shown on an interview screen, audit reports cannot. 

G. Silent and Invisible tags control the information that is shown in an explanation, not in an audit report. 

Correct Answer: AEG 

 

QUESTION 3

Which three statements indicate a need for entities in the policy model? 
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A. Calculate the total subsidy amount, based on the applicant\\'s age. 

B. Collect the family\\'s income details, but only for family members over 18 years of age. 

C. Determine if the child is allowed on the roller coaster, based on the child\\'s height. 

D. Calculate the total compensation across all injuries, based on the impairment level of each injury. 

E. Calculate the total price reduction across all assets, based on the discount percentage for each asset type. 

Correct Answer: BCD 

 

QUESTION 4

Which three actions will help avoid or identify a multiply proven attribute error? 

A. Double-click the attribute on the Interview tab to see if the attribute is used on multiple screens. 

B. Use the "Go To" option in Word to see if the attribute is proven in another rule. 

C. Right-click the attribute on the Data tab to see if the attribute is proven in another rule. 

D. Right-click the attribute on the Project tab to see if the attribute is used in multiple forms. 

E. Check the error list on the Rules tab for multiply proven attribute errors. 

Correct Answer: CDE 

 

QUESTION 5

You wrote rules represented conceptually by the following rule diagram: 
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You build and run your entire set of rules in the Debugger. 

Which two methods can you use to test only the subset of five rules represented by the five black lines connecting the
attributes shown as orange circles? 

A. Set values for the lowermost blue triangle attributes via the data tab and then view the decision report for the
uppermost green square attribute. 

B. Investigate the uppermost orange circle attribute via the data tab and then set values for the lowermost orange circle
attributes via the decision tab. 

C. Set values for the lowermost orange circle attributes via the data tab and then view the decision report for the
uppermost orange circle attribute. 

D. Investigate the uppermost green square attribute via the data tab and then set values for the lowermost orange circle
attributes in the decision tab. 

E. Set values for the lowermost blue triangle attributes via the data tab and then view the decision report for the
uppermost orange circle attribute. 

F. Set values for the lowermost orange circle attributes via the data tab and then view the decision report for the
uppermost green square attribute. 

G. Investigate the uppermost orange circle attribute via the data tab and then set values for the base shown in the
decision tab. 

Correct Answer: BC 

 

QUESTION 6

Which three statements about checkpoints are correct? 

A. Checkpoints can be configured for web interviews, but not Policy Automation Mobile interviews. 

B. Interviews can have checkpoints after every screen. 

C. Interviews must have at least one checkpoint. 

D. Checkpoints can be configured for Service Cloud connections, but not for other web service connections. 

E. A data connection is required to configure checkpoints for an interview. 

F. Interviews can have checkpoints after hosen screens. 

Correct Answer: CDE 

 

QUESTION 7

You are running multiple policy modeling projects and are using the collaboration and inclusions functionality to ensure
consistent screen wording and reuse. You have a "corporate reference" project that contains some standard interview
screens used in all Policy Modeling projects for your company. 

Your company has had some policy changes and you are required to change the wording and layout on the common
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screens for all Policy Modeling projects. The changes are required immediately. 

How can you achieve this using the minimum number of steps? 

A. Update the corporate reference project in Policy Modeling, then upload the new version to the Hub. Deploy the new
version of the corporate reference project and the changes will then be automatically propagated to all other Policy
Modeling projects. 

B. Update the corporate reference project and upload the new version to the Hub. Remove and then add the inclusions
for all of the other projects, because inclusions will not merge screens. 

C. Copy the screens from the Corporate project into all of the other Policy Modeling projects individually, and then click
the Add button on the Inclusions tab for each project. 

D. Update the corporate reference project and upload the new version to the Hub. Update all of the other projects
individually by clicking the Update button on the Inclusions tab. 

E. Update the corporate reference project and upload the new version to the Hub. Update all of the other projects
individually by clicking the Reset button on the Inclusions tab. 

Correct Answer: E 

 

QUESTION 8

Which two statements about connectors and grouping operators are correct? 

A. AND and OR connectors must always be on separate lines to the attributes they are connecting. 

B. A rule may contain AND and OR connectors. 

C. Grouping operators reduce ambiguity in rules. 

D. The grouping operator sits at the same level as the conditions it is grouping. 

E. The ALL grouping operator sits at the same level as the conditions it is grouping. 

Correct Answer: AB 

Reference: https://www.oracle.com/technetwork/documentation/e54499-01-opm1045-2489551.pdf 

 

QUESTION 9

What is the purpose of an interview goal? 

A. to ensure that all necessary data needed to display an has been collected 

B. to test the policy model 

C. to collect data on why the end user is using the interview 

D. to identify the top-level attributes in the policy model 

E. to drive which screens should be displayed in the interview 
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Correct Answer: C 

 

QUESTION 10

Which two use cases are suitable for Policy Automation? 

A. routing incidents and tasks to appropriate team members 

B. managing the security of customer data in another application 

C. creating a repository for storing and cataloging policy manuals 

D. discovering new policy rules through self-learning predictive analytics on previously collected data 

E. providing interactive advice on who may be eligible for a product or benefit 

F. creating an online calculator to determine the amount of a discount or subsidy 

Correct Answer: AD 

 

QUESTION 11

Your policy model has two entities: the applicant (Global) and the applicant\\'s income. 

What type of relationship does the text "the applicant\\'s primary income" describe? 

A. one-to-one 

B. self-referential one-to-one 

C. many-to-one 

D. one-to-many 

E. many-to-many 

Correct Answer: A 

 

QUESTION 12

Which three rules will fail validation? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

E. Option E 

Correct Answer: BCD 
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